Algebra - Indices
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The diagram shows two similar triangles.
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In triangle ABC, AB = 10cm and AC = 18 cm.
In triangle POR, PQ = 6cm and QR = 12 cm.
Angle ABC = angle POR.
Angle CAB = angle RPQ.
(a) Calculate the length of BC.

.......................... cm

()

(b) Calculate the length of PR.

.......................... cm
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ABCD and PQORS are mathematically similar.

(a) Find the length of PQ.

(b) Find the length of AD.
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In triangle ABC, AB = 10cm and AC = 18 cm.
In triangle POR, PQ = 6cm and QR = 12 cm.
Angle ABC = angle PQOR.
Angle CAB = angle RPQ.
(a) Calculate the length of BC.
B¢ = Qe x £
3
............ 22 .
= 12 K5 =24 cm Q)
3
(b) Calculate the length of PR.
Pr = RC » 3
3
= 18 X}—- ‘_5;4.' = 0.8 em
$ &
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ABCD and PQORS are mathematically similar.
(a) Find the length of PQ.
F & = Al x}
A
= b« 3. S T
A
................... OI cm
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(b) Find the length of AD.
AD = PSxz
3
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